
SCAN HERE TO LEARN MORE ABOUT THIS MACHINE

WANT TO KNOW MORE
ABOUT THIS MACHINE?

ESHT22 SPARE PARTS
AUTOMATIC L-TYPE SUCTION CUP CARTON ERECTOR

3" Spare Parts Kit Part#: ESHT22SPK-0

QUANTITY PART NUMBER DESCRIPTION

1

1

6

4

4

4

4

4

4

4

1

10096-1

29201272

90190227P

27280031

27280042

2728005

27280251

27280131

27280164

2871733

2871732

Spring, Main (Top)

Cylinder, Air CM2C32-75A-C73

Roller, M80X125

Bearing, Ball 6003ZZ

Bearing, Ball 6004ZZ

Bearing, Ball 6005ZZ

Bearing, Ball 6801ZZ

Bearing, Ball 6902ZZ

Bearing, Ball 6904ZZ

Contact, Switch TE ZB4-BZ102

Contact, Switch TE ZB4-BZ101

1 2853308 Switch, Limit XCE-118

1

1

3

1

1

2

2851003

29201094

CV313000P

2851005

29200765

2850118

Sensor, Proximity OMRON TL-N10ME1

Cylinder, Air CDG1UA32-125Z-C73

Assembly, Suction Cup ESHT

Sensor, Proximity TL-Q5MC1-Z

Cylinder, Air CDM2C32-175AZ

Sensor, PhotoEye VTF 18-4N1212

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

VERSION 4.0_0624WWW.BESTPACK.COM

© 2024 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



QUANTITY PART NUMBER DESCRIPTION

ESHT22 SPARE PARTS KIT 3" CONTINUED
3" SPARE PARTS KIT PART #: ESHT22SPK-0

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

2

1

1

1

1

1

2

2

2

4

2710089

2930518

2920157

2728413

2920207

29200634

2908002

2908016

2908017

P310005

Belt, Black M50X2200

Bumper, Festo YSR-12-12-C 34572

Cylinder, Air CDM2C40-100A-C73

Rod End, PHS 14X1.5

Cylinder, Air CDG1UA32-100Z

Cylinder, Air CDM2C25-350AZ-C73

Valve, Speed Control 1/4X6mm

Valve, Speed Control JSC8-01

Valve, Speed Control JSC 802

2 29201114 Cylinder, Air CDQ2B40-20DZ

Cup, Suction 3" DIA PT1/8X70

2

2

1

1

1

1

1

1

1

292018211

064013C6P

28520332

2853422

2830110

2810117

2810118

2811188

2811192

Cylinder, Air CDG1UA50-150Z-C73

Roller, Assembly (Non-Power)

Sensor, Photo E3Z-D61

Spring, Tension Arm

Relay, OMRON LY-2NJ DC24V

Relay, Magnetic SC-03-4A 110V

Relay, Magnetic 3ALB 110V NC

Relay, Thermal 2.2-3.4A

Relay, Thermal 6.0-9.0A

1 2911905 Valve, Solenoid VQZ3121-5Y1-02

1

1

2912909

AC30B000SK

Valve, Solenoid VV5QZ32-09C

3" Black Tape Head Spare Parts Kit

For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

© 2024 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.


